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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF 80, GET IT REPLACED BY A COMFLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or disecrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet,
This Test Booklet containg 150 items (questions) in two Parts : PART - A and PART - B. Each
item in PART - B is printed both in Hindi and English. Each item comprises four respenses
{answers). You will select the response which you want to mark on the Answer Sheet. In case, you
feel that there i3 more than one correct response, mark the response which you consider the best. In
any case, choose ONLY ONE response for each item,

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
vou have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After vou have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet,

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

L]

(i)  There are four alternatives for the answer to every question, For each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

{ii) Ifa candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

{iii} If a question iz left blank, ie., no answer is given by the candidate, there will be no penalty for that
quesktion.
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PART = A
Synonyms

Directions : Each item in this section consists of a
sentence with an wnderlined word fwords followed
by four options. Select the option that is nearest in
meaning to the underlined word /words and mark
your response in your Answer Sheet accordingly.

1. The discussion was wound up after a long and
fruitful exchange of views,
(el postponed
(b}  cut short
()  interrupted
(d) concluded
2.  He was fully alive to the need for making
adjustments,
fa)]  concerned about
(b)  worried about
(e} aware of
(d) indifferent about
3. The police officer tried to intimidate the
witness but in vain.
fa} inform
(b} reward
ie) frighten
id} persuade
4.  We must adopt drastic .meaaut&s to control
population growth.
{a) simple
(b} dramatic
{e)  realistic
(d} severe
ADU-F-LXT

5.

10.

(2-A)

He is extremely meticulous in his approach.
(a) simple

ib)  careful

fc) fair

(d} reasonable

The experts' minute examination brought to
light some important clues.

fa) qguick

(b} detailed
(e}  superficial
(d}  prolonged

The decision of the Union Government to
repeal the Urban Land Ceiling Act has been
welcomed by all.

{a) suppress

ibl  amend
ie)  eancel
(d) withhold

This is his maiden appearance on the screen.
{a) first

(b} last
(c) girlish
idy shy

At the end of the marathon everybody was
exhausted,

(a)  weakenead

{b)  honoured

{c) satisfied

{d) tired

He gave me a counterfeit coin.

(a) rare

(bl fake

(e}  unmatured
(d) inferior




Antonyms

Directions : Each item in this seclion consisis of a
gentence with an wnderlined word words followed
by four options. Select the option that 15 opposiie in
meaning to the underlined word ! words and mark
your response in your Answer Sheet accordingly.

11.

12,

13.

14.

15.
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My mother has been working hard for the last
two weeks and she feels run down.

{a) morbid
{b) energetic
{e} exhausted
{d) emotional

The President condemned the act of violence
during the celebration of the festival,

(a) reason

(b)  instigation
(e}  restraint
(dl  sobriety

The students made a penerous contribution to
the flood relief fund.

(al niggard

(b selfish

(el spendthrift
(d} indecent

He was just idle by temperament.

(al employed
ib}  occupied
(¢} industrious
(dy happy

Maost of the decizsions taken by the officer were

unjust.
{a) serious
(b} lenient
{c} ecorrect
(d) imbecile

(3=

186.

17.

18,

19.

20.

Al

He is a loving father and takes great delight
in his children.

(a) revolt
(h)  dissatisfaction
e} enjoyment

id) dizsgust

He was quite concerned about his son's career.
(a) unrelated

(bl indifferent

i)  dispassionate

id) carefree

They are confident of success.

ta) imprudent
(b}  impatient
(e} diffident
id) reluctant

We carried on the search for the missing
PErson.

{a) delayed

(b}  reconsidered
{e})  broke up

{d) called off

Thiz T.V. has many indigenous components.
{a) Indian
{b) foreign

(e}  unnatural

(d) pgenuine



Directions : In the following passage, at certain points you are given a choice of four words marked (a), (8),
fe) and !’nﬂ, one of which fits the meaning of the passoge. Choose the best word out of the four., Mark the
letter, viz., fa), (b}, {¢) or (d), relating to this word on your Answer Sheet. Examples K and L hove been

Belecting Words

solved for you.
K L
The (a) boy wasin the achool in Shimla. (a) She was homesick.
ib) horse (b) It
() dog (c) He
(d) eow (d) Her

Explanation : Out of the list given in item K, only, ‘boy” is the correct answer because usually, a boy, and
not a horse, a dog or a cow, attends school. So (a)' is to be marked on the Answer Sheet for item K A bay iz
usually referred to as he’, so for item L, (c)’ is the correct answer. Notice that to solve the first item K you

have to read the rest of the sentence and then see what fits best.

Passage

After this incident 1 went to Nainital, and returned after nearly a month. I had {a} hardly

232.

taken (a) out
(b) away
{c) off
{d) on

my clothes when I saw Gangu standing (a) by

24,
a new baby. He was {a} jumping
ib)  bursting
(e} dancing
id) singing
26.
(a) experimented guch joy
ib) shown
ic) felt
td}  heard
28.
His face had the same {a} light
(b} glow
{c] s=ense
{d) hope
30,
on the face of a (a) starved
th) satarving
ic)  hungry
id) satisfied
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21.
(k) barely
e} merely
d) rarely

23.

(b] near

e} with

(d) at

25.

with joy. Even Nanda  (a) could not have

(b would

{c) should

(d) ought

27.

fa)

(b} in

{c] on

(d} into
29,

that (a)
(h)
{c)
(d)

at  getting Krichna.

COMEs
appears
rises
shows

man after a full meal.

(4-A)




Directions : Each of the following items in this section consists of a sentence, the parts of which have been
jumbled. These parts have been lobelled P, @, R and 8 iven below each sentence are four seguences
namely (), (b), (c) and (d). You are required to re-arrange the jumbled parts of the sentence and mark your

Ordering of words in a sentence

response accordingly.

a1.

32,

The spirit of man

has elowly and painfully surmounted  and his growing intelligence

P G
all the obstacles that have come in his way  has faced all kinds of dangers
R 8
a) Q@ P s R
) 8 @ P R
¢ R P Q@ 8
d P RE Q 8

After our school boys had won a well-contested hockey match

so that they might communicate the news of their victory to the headmaster
P

who is a keen sportsman  they came to school in high spirits

Q R
and takes a very lively interest in school games
5
a @ P 8§ R
i) 8 @ P R
¢y R P Q 5
@ P R Q@ S8
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33. Even a leisurely game like cricket

demanding grace rather than strength
P

and over the rough tactics of the Australian team that visited England in 1921

G
as we saw in the controversy over body-line bowling  can cause much ill-will
R 5
(@0 P 8 R Q
R & P
€/ 8 R Q P
dd @ P R s

34. Secientists point out of sunspot activity  that it is an aftermath that  has now reached its pealk

F Q E
of the eleven-year cycle
5
(a} B 8 P Q@Q
b)) P @ 85 R
) @ R P s
d Q@ B P R

35. As the ship streams from San Diego as walls of gray water from a distant storm in the North Pacific
P

makjng the gresner among us miserable with sea sickness  rock and toss the ghip
L, R
those of us aboard have a personal demonstration of powerful oeean movement
=

(@)
(h)
{c)
{d)

w o= m D

5
Q
e
P

O wm w7
H O wmom
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Spoiting Errors

Directions : Each ilem (n this section has a sentence with three underlined parts lobelled (a), (B) and (c).

Read each sentence to find out whether there is any error in any wnderlined part and indicate your response

in the Answer Sheet agaeinst the corresponding letter i.e, (a) or (b) or (e). If you find no error, your response
should be indicated as (d),

36.

a7.

40,

An electrical cirenit is the complete path traversed by electric current. No error
(&) (b} te) (d)

He waved uz a by-by as he boarded the train which disappeared into the tunnel. No error
(a) (b (e {d)

There was great deal that had to be scrapped, that must be scrapped,

(a) ‘ik

] '-.-"‘
but surely India could not have heen what she undoubtedly was,

{b)

and could not have continued & cultured existence for thousands of vears. No error

{c} fd)

With regard to interior decoration, it is the attention given te the less overt aspects of using space
la)

that give it life, an identity, a guality that makes it exciting and unusual. No error

{h) (c) {d}

A small parcel of novels is better than none, No error

{a) (h} (e) (d)
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Fill in the blanks

Directions : Each of the following sentences in this | 49  The result of the prolonged digcussion
section has a blank space and four words or group of e :
words given after the sentence. Select the word or (a) disappointment
group of words you consider most appropriate for the
(h)  disappointing
blank space and indicate your response on the
Anzwer Sheet accordingly. (e} dizappointed
(d) to disappoint
41. He looks asif he WeaAry.
(a) is
#4‘ You are lucky in the 20" century.
(b)  was r @
- () by being born
(e}  would be
(b}  to have been born
(dl  were
(e}  for being born
{d} to have born
42. My house is insured theft and fire. o
45. Sitaistrue to
{a) for
(a)  word
(b} ainst
= {b}  her words
e} in
(e} the words
(d} towards
(d) words
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48. Years since I saw her last.
(a) have passed
(bl  had passed
(¢}  had been passing
(d) have been passing
47, When he heard the terrible noise he asked me
what wags on,
(a) happening
(b} being
e} getting
(d) going
48. (Could you lend me some money 7 [ am very
of cash at the moment.
{a) down
(b} low
(e}  short
(d) scarce
ADU-F-LXT
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4.

A

I saw her when zhe was standing
the gide of the old statue,

(a) by

(b} at

{e} in

id) beyond

True friends never their loved ones
in adversity.

(a) abuse

(bl  criticize

(el  hefool

{d) desert
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PART - B

Which one of the following was set as a target
of average growth of GDP of India over the
plan period 2012 - 2017 by the Approach
Paper to the Twelfth Five Year Plan ?

{a)

(b}

T percent
8 percent
(el 9 percent

(d} 10 percent

Which one of the following iz mot a subject
that has been devolved to the Panchayati Raj
Institutions by the 11" Schedule of the
Constitution of India ?

{a) Non-conventional energy respurces

(b} Roads

tc)  Higher education

(d} Libraries

Who among the following used the term
Industrial Revolution for the first time in
English to describe the changes that occurred
iri the British industrial development between
1760 and 1820 2

{a} Friedrich Engels
(bl  Eric Hobsbawm
ied  Arnold Toynbee

{d)  Georges Michelet

a4

3.

56,

B7.

(10-A)

Who among the following is the author of the
book “The Indian Struggle, 1920 - 1954 7

tal Maulana Abul Kalam

(b}  Jayprakash Naravan

(e} Subhash Chandra Bose

(d) Mansbendra Nath Roy

Which one of the following about the

Swadeshi Campaign in 1896 is mot correct 7
{a)
(b}

Its centre was Maharashira

lts main participants were students
(e) It opposed the levy of tariff on imports
{d) It publicly burnt foreign clothes

Which one of the following associations was
founded in London by Dadabhai MNaoraji in
1866 7

la)
(b)

The Bengal British India Society
The East India Association

ie)  The British Indian Association
(d} The Madras Native Association

Mariana Trench is located in the ocean floor

of

ial  Southern Atlantic Ocean
Ibl  Western Pacific Ocean
{e}  Eastern Pacific Ocean
td) Northern Atlantic Ocean




al.
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| - B

aREdl deEdTE AT % 9T g grEe
sty 2012 — 2017 B, W % GDP # ¥iwm
afy % v we & w9 8, Frofafes § 4 9
Fifraa fean man &1 2

(a) 7 Wi
(b} & wioe
(¢} 9 i
(d) 10 W

WA % dfea & 11 sEEE g e T
gemal w1 =gre o omn oww e,
ffeafiga 8 @ =9 7857 2 2

(a) MOl w1 goE
(b) ®ZH

() 3= foeEm

(d} THIHEHE

1760 3fi 1820 % Hr= s shenfes fawm §
T ofEdE w o W % fe, et
i # femd ueelt am iR d, SsedfiEm
TaegE a8 = WA T o ?

(a) Thafe GEE
(b) ufter gleEET
(c) FFATeE ZEE
(d) rda S

5.

o0,

a7.

(11=A)

‘z TiEgT &, 1920 - 1934° TR & TEE,
Fefafga d 2 sR g 7

(a) WY FEEH He™
(b) FEWERTE AT
(c) HWM T &
(d) W A1E T

1896 % et sfmm & an 4, Pafafes 4
4w At g R 2

() FHE Hg TR o1
(b) ek wgE wrfien femef g

(e) TES MW W HHLgES oA % R
fepam =n

(d) = faesh gt =) ariwfes w9 3 39
T 1

1866 B = sl gm =@ |, Fetafae
# wiad gy (deen) & waen o o 2

(a) 7 ame ffem s g
(b} 3 2 sfean wEitEeE

(o) 7 ffee sftem v
(d) & wEm HfE el

e =, To e ae d Fm g
(a) sl seeifes wEmrm

(by wiF=H! T9E HEHFE

(e} E;?ﬁsmmnmm

(d) I SEeleE WETATH




58. Taklamakan Desert iz situated in
ta} Western Asia
(b}  Southern fringe of Sahara in Africa
(e}  South America
(d) Central Asia
59, Rudraprayag is situated at the confluence of
rivers Alaknanda and
ta) Bhagirathi
(b} Mandakini
(e}  Nandakini
(d} Dhauliganga
60. Arrange the following Indian cities according
Lo their locations from west to east :
1. Bilaspur
2 Jodhpur
5 Bhopal
4 Ranchi
Select the correct answer using the code given
below :
(a) 3-2-14
(b} 2-3-1-4
(e)  4-1-2-3
(d) 2-1-3-4
61. The Kashmir region receivez additional
amount of precipitation during the winter
brought by
{a} South-west Monsoon
(b} Western Disturbances
(e}  BRetreating Monsoon
(d} Temperate Cvclone
ADU-F-LXT (12 -

62,

A

Which part of India has the Kalakot tertiary
coal field ?

(a)
(b}

Brahmaputra river basin of Assam

Damodar river basin of Jharkhand and
West Bengal

(c)  Himalayan mountain region

(dl Cardamom hills in Kerala

Tendons through which muscles are
connected to bones are tightly eompacted
bundles of which one of the following long
fibrous protein 7

(a) Fibrin
(b} Collagen
(e} Elastin
{d} Cellulose

Which one of the following is the scientific
the cavsal organism  of
elephantiasis 7

name aof

{a)
(b}

Ascarts lumbricoides
Culex pipiens

(e)  Wuchereria bancrofti
(d)  Fuasciole hepatica

Melanin is the natural pigment that gives
colour to human skin, hair and the iris. It
provides protection against

(a) Ultraviolet radiation
(b)  Infrared radiation

{e)
{d)

X-ray radiation

Short wave radio radiation




58, ZehCITHER HoeEE W) 1 2 7

59.

(a) ofgEft ofyen A

(by  anfieRl § AW % afmi R W
() el st |

(d) e ufien

e & Ty 9% T8 wE-H g, B wm
o wesEm o @ 2

(a) wreiei
(b)  H=TfER
(c) eIt
(d) el

Frrfafirg WD e &, 9fFam 3 9@ 1 30
w1 aefeuty % wgan =matem fif .

1. faemEg
2, HMEY
3. W=
4, T

3 fom o g2 = W S AR I HET
{a) 2-2-14
(b) 2-3-1-4
() 4-1-2-3
d) 2-1-34

61, e % 2, s g A g A g
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£t wfafea o e g o S 8 2
(a) STt 9EER g

by izt Fasrdi g

(c) W wE W HEEE 7

(dy  Sfreme =EETE G

62,

(13=A)

wd % fem uym 8 wemsre et (2REd)
HIE-EE 7 7

(a) e % gergd Tt AfEE

by EEvz i offay @me & gmiE a8
wfe o

(c) Temem vea wem #
(d) e AN (FermEdt) TEisal H

e (¥m=) Fod e & wimdfEmi efgdl @
&t 2t §, Frefafee d @ fem s o9 W
WA ¥ 27 TuA 950 Bl 8 7

(a) I3
(b) ehIctA
() FemiEd
(d) T

viMe % 1MEEE Sid H S AH
frafafag § 4 FR-aT 2 7

(a) DEHIRE i EE
(b) FgerFe fafoe

(c)  FEAREAT F=HIFTE

(d) ST BEE

Tenfia U Wl S 7 A e =, 9
it aftafr (smsf|) =1 W T FE R |
Ferae g a0 R 7

(a) waaHY e &
(b) HetEa R A
() X-famm ffm &
(@) g o e



66. Intake of which one of the following food
compoenents should be minimized by patients
having Gouty Arthritis due to elevated serum
uric acid level 7
(a) Food fibres
b} MNucleic acids
le)  Lipids
(d} Carbohydrates
67. Which one of the following statements about
microbes is mod correct 7
ta} They are used in sewage treatment
plants.

(b} They are used in industrial fermenters
for the production of beverages.

fe}  No antibiotic has been obtained from
any microbe,

(d} They are used to get many bioactive
molecules for the treatment of diseases,

68. Golden rice iz a genetically-modified crop
plant where the incorporated gene is meant
for biosynthesis of
(a)  Omega-3 fatty acids
(b Vitamin A
() Vitamin B
(d) Vitamin C

69. An object moves in a circular path with a
constant speed. Which one of the fllowing
statements is correct 7
(a) The centripetal acceleration of the

‘object is smaller for a pentle curve (ie.,
curve of larger radius) than that for a
sharp curve (i.e., curve of smaller
radinsg).

(b)  The centripetal acceleration is greater
for a gentle curve than that for a sharp
CuTve.

(c)  The centripetal acceleration is the same
for both, the gentle and sharp curves,

{d}  The centripetal acceleration cauvses the
object to slow down,

ADU-F-LXT

70,

71.

72,

(14 -A)

The force acting on a particle of mass
m moving along the x-axis is given by
Fix) = Ax® — Bx. Which one of the following is
the potential energy of the particle ?

(a}) 2Ax-B
H'.'H
b - --EI:EAJ:—EE}

c) Ax®— E-:-:ﬂ

d)y Zero

The symbol of SI unit of inductance is H. It
standa for

(a)  Holm
(b} Halogen
(e}  Henry
(d]  Hertz

In a vacuum, a five-rupee coin, a feather of a
sparrow bird and a mango are dropped

simultaneously from the same height, The
time taken by them to reach the bottom iz ty.

ty and ty respectively. In thiz situation, we
will ohserve that

{a) ty>igaiy
thy ty>ty=ty
e} tsty>tsy

d) ty=tywty
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(o)

A 35 e 3, R S A
o e o oI o e T wmn B

d)

68. TAEEN UM (Wwed TH) AEET F9OH

waig Bae % ey B, T wwfas ofl,
Iﬁaﬁa:&a.ﬁuﬁm%%ﬁé’m%?

(@) SATHI-3 FET-3E

by FEfE A

) PR

(d) TE=fiE C

. 1 fvz us =gw Uy W ouE FEm =w

4 nhmm & | fetafes § 8 S9 weE ad
r &

(o) em g (awty @9 e T 9%) f
qen # Og wE (i =9 B A
aw) & foo fimg &1 wAfieeg =0 <.
TR |

digo @ 1 qE0 # A wH F fom
afiseg e s =2 R |

He aft diswm, 94 aw F o aiiees
T THGAT B

sifips =, five & 9 s 9@ =
e B # |

{b}

lch

td)

(15— A)

70.

1.

-5 o TEEE TEHF m g5aH 9T U F:0
o wEEH w9 H1 Fix) = Ax® — Bx g0 el
frar n & | =3 w0 < fE s Fofahes
G EC iR

2Ax-B

(@)

a2
B - % (2Ax — 3B}

(c) Ax? E‘.b:"!

d) I

Yrehea & 81 WS o Wdieh H ® | IEeR 37
]

(a) BEH
i) Eﬁlﬁﬂ
{c) %qﬂ

(d) wea

qa. TEta 6, oi9 9% & U feewn, it g8l

TF TE R T A EREEE S H U
fire = # | $796 g0 @ T wde # fern
NG FE b, t, 3R t, & | 5 fEfd d, w
ST il

':.E-} ti}tgﬁ'tﬂ

() ti=ty=>1ty
el tg =ty =ty

{dj t]_ = tE P ta




73. Electron emisgion from a metallic surface by
application of light is known as
(a) Thermionic emission
(b}  Photoelectric emission
(e High field emission
{d}  Autoelectronic emission
74, How long does light take to reach the Earth
from the Sun ?
fal  About 4 minutes
(b)  About & minutes
(e} About 24 minutes
(d) About 24 hours
756. Radioactivity iz measured by
{a)  GM Counter
(b}  Polarimeter
(e}  Calorimeter
(d) Colorimeter
76. The mirrors used as rear-view mirrors in
vehicles are
(a)  concave
b}  convex
{e)  cylindrical
(d}  plane
77. Which one of the following waves is used for
detecting forgery in currency notes 7
(a)  Ultraviolet waves
(b)  Infrared waves
{c) Radio waves
(d)  Microwaves
ADU-F-LXT
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#1.

(16-A)

The majority charge carriers in a p-type
semiconductor are

[a) free slectrons

{b) conduction electrons
(¢}  ions
idl} Tholes

The ionization energy of hydrogen atom in the
ground state is

fa) 136 MeV
(b} 13-6eV
(e} 136 Joule

d) Zero

When pure water boils vigorously, the bubbles
that rise to the surface are composed
primarily of

(a}) amir

tb)  hydrogen

(¢}  hydrogen and oxygen
{d) water vapour

Which eompound, when dissolved in water,
conducts electricity and forms a basic

solution ?

(a) HCI

(b} CHZCOOH
{c) CHR0H

(d} NaOH




g8, EM & WA g et ot wor @ oA

74.

FeEA I wE £ 7
(a) TR I
() R, I
() T & IoeEA
(d) EE-FerELlE IeaeA

wd § gudl w wde 0 v o e @
T § 7

{a) e 4 e
by & fime
(c) =Ta 24
(d) T 24 T

75. TR W e Teed fea Imn @ 7

6.

7.
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(a) GMFEZLH

by gEmrd (diefefer) 2
(e STt (el |
(@ avierd (e 3

AEAT § qvE-gyg gAv % w9 § g B A
T #

{a) Adde
by ST

(c) HEATER
(d) HHEE

=t FE # sremrE & TeeE wE E o
Frrferfiga 7 % wim-it a0l =0 W B E 2

(a) TrrETHT T
(b} ST WO
() I @
(d) HEEAG

TB.

81.

(17 -A)

frdt puR F wdwEs d wEEwEE AEW
TTEF T B § ?

{a) TEA SEECH
(b) T TEEgH

(el SHEH

(dy B

foem avae § TS STy i A
Bt #

fa) 186 MoV
{b.} 13-6 eV
(e} 13-6 5
(d) FH

T Mg W FEerdl 9§ IAe 8, 01 Hae H AR
334 ATt geige g faed = w2

(a) 9
(b) EIEEISE
() ETEBIAA 3 AT

{(d) = 9
Fa Afw o 8 9 I W, g w
e w0 & i gy ferm s R 7

(a) HCI

(b) CHZCOOH
(¢) CHZ0H

{d) NaOH




B2. The principal use of hydrofluoric acid is
(a} in etching glass
{b)  &s a bleaching agent
(e} as an extremely strong oxidizing agent
(d} in the preparation of strong organie
fluorine compounds
83. The species that has the same number of
electrons as ﬁﬂl is
az
(a) o8
o+
() ]ES
A o, 4
{c) W
R oZ-
{(d) 15
84. The compound CgH,,0, contains
ta) 22 atoms per mole
(bl twice the mass percent of H as
compared to the mass percent of C
e} six times the mass percent of C as
compared to the mass percent of H
(d} thrice the mass percent of H as
compared to the mass percent of O
ADU-F-LXT
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The proposition ‘equal volumes of different
gases contain equal numbers of molecules at
the same temperature and preszure’ is known
s

ta}  Avogadro's hypothesis
(by  Gay-Lussac’s hypothesis
(e}  Planck’s hypothesis

(dl  Kirchhoff’s theory

Which one of the following statements about
the Ilbert Bill is correct ?

{a) It proposed that the Indian magistrates
would try Europeans in criminal cases,
{b) It allowed Indians to file criminal cases

against Europeans.

(e} It authorized Indian ICS officers to try
Europeans in courts,

(d) It was an agitation led by Ilbert in

support of the nationalists,

Who among the following ean attend the
meetings of both Houses of Parlinment while

nrot being a member of either House 7
ta) The Solicitor General of India
ihy  The Vice-President of India

te)  The Comptroller and Auditor General of
India

(d}  The Attorney General of India



83,

T e W e I9an w6 R 7
i o Femn (A |

by T FrEF e d

(c) Freatier ww fadiETE 2 % w9 4

TaE FEEh FEINE aifER wl oA
fopm, w4

{a)

id)

83, 9% T (wEw) s @ T geeE

B4,
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32

(a} S

by Hst

EE

e}

%SL

(d] 16

i CgH;,0, ¥
(a) wiA #ie 22 A BE B

(b} C % pe=mM Uiaem & gom 4 H &

Z=gT WidEE I e g

() H ¥ z=99W dawm & g5 A ¢ F
ZeaT WY o T A R

0 % zEmMA gfamm i ge 3 H w5
et it frn g R

(d}
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8.

8.

87,

‘e A @ gm ow fafim el & A
A o el 6t TEm weE a2 - 1
AT F e 8 7

(a) AEIE 9iERET

(b} gl TREeT

(e} TETER THEHCT]

() s = faem

Trae YT & an 0 Peafafas d @ 9
e HEl B 7

ol weataa o T solas ol d
wrtg ufse gt w =mafasm it

E wwmaaE W g g
AT W g9 w6 st T |

(e)  ZET e 8, gl w mEfiEn w06
% fou g 108 sifiEiEl = wivsa
foam |

T TEEEE F wedT #, e F e
TTEAT Ush e o7 |

(@)

{h)

()

o & fret oft mE = mEE ¥ EN WA,
Fr=fefigs 4 & +17 gag % 91 9g0 & #3
i mfm B s E ?

(a) YA T AEMEIA G



BE. Whe among the following was believed to be a
leader of the Sanyasiz and Fakirs conspiring
against the British in 1857 7

(al Mangal Pandey

{(b) Bahadur Shah II

(e} Queen Feenat Mahal
{d} Nana Sahib

B9. Who among the following was the founder of
the Avadh Kingdom in the 18" century 7

ta)  Murshid Quli Khan
(b} Saadat Khan

(e} Ablvardi Khan

(d) Barfaraz Khan

8. Who among the following was the founder of
the Young Hengal Movement 7

fa) Henry Vivian Derozio
tb)  David Hare

(¢}  Dwarkanath Tagore

(d) Prasanna Kumar Tagore

91. Which one of the following statements about
the Quit India Movement is not correct ?

(a} It broke out in August 1942,

(b}  Ahmedabad Textile Mills went on strike
for more than three months.

(e} Muslim League and Hindu Mahasabha
actively participated in the movement.

(d] Communist Party did not support the
movameant.
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2. Who among the following is the winner of the

Singapore Open Superseries Badminton
Men's Singles title 2017

{a} Kidambi Srikanth
(bl Lin Dan

{e)  B. Sai Praneeth
{dl  EKento Momota

Koradi Thermal Power Station is lacated in

la} Magpur
(b Haipur
te)  Mumbai

idl Secunderabad

Which one of the Wllowing is the theme of the
International Day for Monuments and Sites
(World Heritage Day) 2017 7

(a) The Heritage of Sport

(b}  Cultural Heritage and Sustainable
Tourism

{e)  Past and Present Heritage
{d} Heritage and Science

In April 2017, USA dropped MOAB (Massive
Ordnance Air Blast popularly known as the
Mother of All Bombs) in the suspected
hideouts of militants in which one of the
following countries 7

(a} Iran

(b}  Syria

) Afghanistan
{d} Somalia




1.
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fafeafaa & & e ot o 98 590 = &
T 1857 #, faftw & faug wssmredt senfai
il el 7 e 0 v

() T TR

(by WEIEl ME IL
fe) T g wEE
(d) A HEE

Frafefian § @ =9 18 ooed 4 amy U=
w1 HE9E 91 7

(a) WEilE Tl @R
(b) EATEA WA
(¢) Feltad] @@=
(d) T W

4 §NE A=EE w YEds WoteiEs 4 8
Fi | ?

(a) BT fafe fedfaan
(b) EfeE 3

(c) BREMTY 2R
(d) TEH FEN TN

b o e e e O e
FA-m F97 5 7 8 0

(a) T IOTE 1942 WE 7a1 A1 |

b) FETETEE e fuel O A omm 9
st T9Y W% 2241 T8 |

() wftem w3 famg wemw & @ FReH
g gtk w9 & W fomn o |

(d) wHEgE wd 3 WEEA W oEHEd AR
faram it |

92,
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o s gewita dsfin i e
TIEE 2017 ([F8 Uehel fgama 2017) &1
feffEr da s gy

(a) TorErel s
M TEE.
(e) #ft, | vk

(d) 2 W

FrrEt ade T Svm (Fufe vl ) =
W w7

(a) TIYE
(b) T

() T
id) farermm

WA W e #g s feew (fae
o femw) 2007 i Faveas PR d
HEA g7

(a) THE-Hg = fawEd

(b)  WiEERiae faEd 3 anefe gde
(e} I vE FETA e

)y faoma i fagm

afer 2017 #, USA 3 Iuaifedl % fawd W
dfew sl 9 MOAB (e smqa amgam

ferriz Foml s vEt TR W SieE
s &), Feforfian & & fem g o fiwen o
(a) EW

(by Hifn

(c) e

(d)  EmTTeE




96. Who among the following is the Chairman of
the Interdisciplinary Committee constituted
recently by the Government of India to
examine framework for virtual currencies ?

{a) Secretary, Department of Financial
Services

(b} Bpecial Secretary, Department of
R-E"."EH!.]E

(¢}  Special Secretary, Department of
Feonomic Affairs

d}  Deputy Governor, Reserve Bank of
Indiza

97. SAMPADA scheme iz being implemented by
the Ministry of
ta) Finance
(b)  Housing and Urban Affairs
ie]  Food Processing Industries
(d]  Earth Sciences

98, The shortest day length that occurs in the
Northern hemiesphere is on
(al 215 March
(b} 23™ September
) 22" November
(d) 22 December

99. The Indian Railways have gone in for
qualitative improvements sinee independence. |
Which of the follewing have taken place in
recent years ?

1.  Gauge conversion
2. Track electrification
3. Automatic sipnals
Seleet the correct answer using the codes
given below :
la) 1and2only
{(b) 2and 3 only
el  1and3only
d} 1.Z2andd
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101.

102.

Al

In India, maximum amount of rainfall is
received from

{a)  Western Disturbances
(b} North-east Monsoon
e}  Bouth-west Monsoon
id}  Retreating Monsoon

Which set of the following biosphere reserves
in India is included in the World Network of
Biosphere Reserves ?

(al  Gulf of Mannar, Nokrek, Panchmarhi
and Simlipal

(b} Gulf of Mannar, Kanchanjunga, Nokrek
and Seshachalam

(c)  Nilgiri, Nokrek, Panchmarhi and Panna

(d)  Nilgiri, Nokrek, Panchmarhki and _
Seshachalam

Which of the following statements about
magnetite ore of iron is/are correct 7

1. It is knowin as black ore,
2. It contains 60% to 70% of pure iron.
. It possesses magnetic properties,

Select the correct answer using the codes
given below :

(a) 1only

(b}  2and 3 only
(¢} 1and3only
(d) 1,2and3
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(¢} T afea, sufds s fam
iy T ma, a5

SAMPADA (H9g) =fm, fFm wem gm
it it = i & o

{a) Tom waEm

(by 3mEE i wEl wE wEe
(¢) T TEHER FE B
() gl s s

It e § sreuan W @A (wEE S
fe) W 2 2

(a} 2197 =

(bj 23 Toams =i

(¢} 22 T o

(dy 922 fEgmar

Tl & A H undly ed A wEa @ e
qun fre € | 519 & & @l 4, Fefefe 8
HH-H GO gL R 7

1 Il

2. 99 (Fh) Fegdren

3. Taanew (anenfes) faea

A= fin g W w wowE we gf
{a) Fam 13t 2

(b) hae 2 33

(¢} HEe 133

(dy 1,233

101.

100. R H, F91 F wfirmm o e o g

27

(a) ufFed) fasid
(b) I-gH AT
(c) Eflm-fTEs WA &
(d) WIS g TR AE |

qia % ofavea fizd w1 Fefafegs 4 8
FH T, anse frad % v s
i o 2 o

{a) WER W WIE, HAh, T9vE 3N
fom e

by TR £ wd, FEEEwm, A dn
Bl S

() A=A, T, = o
(), T, o o TrEem

102, #E & feere sror oA f efefem A @

(23-A)

F-\/0 T e &E ¢
1. S T AGEh w9 § W 9 f
2. TAl 60% § 70% 0% Wg wE BT & |

9. gad e e e §

A1 o e e = WA w0 A I g
FaA1

thae 2 37 3

(¢) Faet 133

1,233

{a)

(b

(d}




108. Which one of the following vitamins has a role | 107, Water boils 4.11; a lower temperature at high

in blood clotting ? altitudes, because

(a) Vitamin A (a]  the air pressure 18 less

(b} Vitamin D (b}  outside temperature is less

{¢)  Vitamin E {e)  latent heat is less

Wi Vitemin K {d) Nene of the above

108, Concave mirror is used in headlights of

104. The term Probiotic’ is applied to vehicles, because it

{a)  Organic food (a) focuses light from the bulb onto nearby

b} Antacid vehicles

fe}  Antibiotic (b}  sends parallel rays

(d) Live microbial food supplement {e)  fits well into the shape of the headlight

{d)  is cheaper than other mirrors

105. Which one of the following microbes causes

scidiBoation aud curding of milk 7 109, If some object is weighed when submerged in

water, what will happen to its weight

{a) Lactic Acid Bacillus compared to its weight in air 7
(b)  Clostridium botulinum (a) Increase

(e}  Vibrio cholerae (b} Decrease

(d) Sacchoromyces cereviziae (el  Remain exactly the same

{d} Increase or decrease cannot be predicted

“rhﬂ 1] 1'\ lrawmame sharad tha Wlakal

Ly u.-.-.-.-u- """"'""“'-D‘ RS el WEAS. R WLLR

Prize in IE'EFE along with Franeis Crick and | 110, Light vear is a measure of
James Watson for their discoveries concerning

i
[

the molecular structure of nueleic acids 7 (a}  time

{a)  Erwin Chargaff (b}  distance

(b)  Maurice Hugh Frederick Wilkins (e} total amount of light falling on the
Earth in a year

(¢)  Rosalind Franklin
{dl  average intensity of light falling on the

{d}  Phoebus Levene Earth in a year
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103.

1iM.

105.

106.
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W AR (wa g4d) §, Freefafaa § 8 e
ferzfim =61 i =l & 2

() Ffm A

(b T D

fe) TEemim B

) famfm K

e T, e fon v e e g o
{a) AfEF =W

b Ueefirg

() ol

(d)  HeitE gEwEE @ aEE

Fi=fafias & & w9 gadla, 30 % 2
F4 FW SR S S G 2

(a) AAffew s=a AT
FANGIETT FleTw
fafarat el (Bt = Sfram)
dailurgais atlEE!

th)
(el
{d]

[efts el 6 anfors g @ gatm v
% fom wiftm Bee o 3 awss & a9
1962 & AEe JEER & wrien, Fefafes §
H =i o1 7

(a) #fEH =oTE

(h) HifE T Hefes fafewa
() irEnfEE FEiE

(d) hrEE

107.

108,

109.

110,

(26—-A)

A F9E W AW WUEHG BH A9EH T
TEEA 8, F

(a) T TE FH FA R
(b) ETEL F AHE FH 2l 2
(¢) T FEAT H B B
() Iedw d 8w

AEAT *F AWM (FEESL) § EAE g9 YW
Tpen =1 8, il I8

Fod ® WM A WIS %
HTEAT G hirge T B

T, ) S 8
PEAEE &% e 0 s aE e 8
EC R

(a)

ib)
e}

(d) o =dmt ) ge d e R

afy forelt oeg =t ot # 2t wf srEen A den
W, A g A e T oun g § 39 9N
o T WA &Y

(al qmﬁ‘ﬁ'
(by T At
(e} UER TH (TEENW) &1 W

(d) ghg e = = @EigEE @ o
Hep

wehr o (e f) free g & 2
{a) ©HH

b) Tl

() UF T4 § gl O gEd A wEm o Ee
'qﬁ'[

(d) ©H a H el W o9gd A g 6
Htwe it




111.

Which one of the following statements about a
satellite orbiting around the Earth iscorrect 7

(a) Satellite is kept in orbit by remote
eontrol from ground station.

{b)  Satellite iz kept in erbit by retro-rocket
and solar energy keeps it moving
arpund the Earth.

(e} Satellite requires energy from solar
panels and solid fuels for orbiting,

(d) Satellite does not require any energy for
orbiting.

112, Which one of the following statements about

energy is correct 7

(a) FEnergy can be created as well as
destroyed.

{b) Energy can be created but not
destroyed.

{c} Energy can neither be created nor
destroyed.

(d}) Energy cannot be ereated but can be
destroyed.

113. Step-up transformers are used for

(a) increasing electrical power

(b}  decreasing electrical power

{e]  decreasing voltage

{(d)  increasing voltage
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114.

115.

116.

A)

Which one among the following waves carries
the maximum energy per photon 7

(a) X-rays

(b} Radio waves
ic)  Light waves
(d) Microwaves

How much €Oy is produced on heating of 1 kg

of carbon 7

(a) 17: kg
() 1—?;_ kg
() % ks
@ ke

Zine iz used to protect iron from corrosion
because zine is

(a)  maore electropositive than iron

ib}  cheaper than iron

() & bluish white metal

idl & good conductor of h;aat. and electricity



111, Je& % 90 R gfEwaag § 99 ® Uk 39UE
o § frefafam & @ S se ol & o

(a) U8 W g BIW (F) H gey
(foite F=gie) g wiERag o T8 A
|

(b) IYWE F TrETHE U T THEEIAY |
A} e W o @ qedt %
AN FeETE e E

() ooy § 9o F fou sum W), dn
ufgr1ad] 3R 3 9 4 S Tt &

(d) wienay § g & faw awme w0 e
7] & srargET T BE R

112, T4 & =t 4 F=ffes & 9 o 599 o
27

(a) S Iw 6 W Tl § e = i i
= HRAT B |

(b)  Fal Feqs ) = weAt # TR T T
=1 TFAT |

{(¢) FHal 7 T Ioqd i T wwdl A B
52 W1 A T B

(d) S F9a TE1 H W GHAT § g = H
A AFHAT B |

118. 7= ZAwET &1 wm few fw fem s
&
(@) fagaafe =g & fo
(b) oAl &0 % % fom
() Fleadl 79 7 & fom
(d) e w9 & o
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114, Fr=fafas 8 4 sRd wn vl S1ef sfism

At o g
() X-fawr

(b) ¥ =
(¢)  WeRTH T

(d) -

115, T T 1 kg FEA €O, #1 Feadt e 379m

WA R ?

(a) % kg
(b) % kg
(e) % g
(d) % kg

116, =% Ft HEHE 84 & =90 = o sz (=)

1 W e @ &, w6 wwn

(a) 8 i ge i sl ua g 2
(b) R H R

(e) e Hibg urg 2

(d) e 3 fagn w1 e 9 R
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118.

119.

120,
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Which one of the following gases is placed
second in respect of abundance in the Earth’s
atmosphere 7

fa) Oxygen

(b) Hydrogen

(e}  Nitrogen

(di Carbon dioxide

Which one of the following 18 a chemical
change 7

(a)  Cutting of hair

(b} Graying of hair naturally

(e}
{d)

Swelling of resin in water

Cutting of fruit

Which one among the following chemicals is
used as washing soda 7

{a] Calcium carbonate
(b} Calcium bicarbomate
(e} Sodium carbonate
(d] Sodium bicarbonate

Why iz potassium permanganate used for
purifying drinking water 7

ta) It kills germs

() It disselves the impurities
te) It is a reducing agent

(d) It is an oxidizing agent

121. Consider the following movements :

122,

123,

(28 - A)

1.  Moplah Rebellion

2. Bardoli Satyagraha
3. Champaran Satyagraha

4.  Salt Satyagraha

Which one of the following is the correct
chronological order of the above in ascending
order ?

(a)  1-3-4-2
b)  3-1-24
c 2-3-1-4
(d) 4-2-1-3
Which one of the following travelogues has

given an insight on the reign of Muhammad
Bin Tughlag ?

(a) Thn Battuta's Rihla

ib}  Francois Bernier's Travels in the Mogul
Empire

fc)  Niccolan Manucei's Storia do Mogor

{d) Tavernier's Travels in India

Which one of the following was net a Chishti

Sufi saint 7

ia)  Khwaja Moinuddin

(b)  Baba Fariduddin Ganj-i-Shakar
(el  Nizamuddin Auliva

(d)  Shaikh Bahauddin Zakariya
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(¢} e
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(a) Tl I e

(b) TR BT @ A g B

() o H {foH 1 Be

(d) el = BT

119, Fafafgs 4 @ ¥9-8 w = 795 99 5

Hi2 & wr o e I & 7
(a)  HicaEm FEia
(b hicEEy aEEEE
te) Hifgan wrEe

(dy  wfEam amEEE

120. Y595 F1 A 2 F B dfimm e
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ECCI iR e |
(a) SEE T W AT &
(b) TE WUZT (SEgma) w O S i
(¢) 9F U =S R
() TE T A R

121. F=felfgs sr<ient = faan Fifao

122,

1. e g
2, EFEIE HETE
3. SO HeEEE
4, AH% TEER

3w @ Fefefen § @ ®o s e

ST FHITEN HEl 8 7
(a) 1-3-4-2
(b) B8-1-2-4
{c) 2-3-1-4

id)  4-2-1-3

fefafem 4 ® == TEEHE
& T & e o el s
WA FAE?

(a) = @Al = fimew
FiEE AW F Zaew 3 2 g oewEw
Ferenan A=t = w2 2t A

T T Jaed & FEE

(b}
le)

(d}

123, Fefafas 4 & =9 Favdt gf &9 777 @ ¢

(28—A)

A W
EIEIRECERIER B IE o
el aifem

I FETFEA AR

(a)
{b)
el

{d}



124. In April 2017, India celebrated 100 years of
Mahatma Gandhi’s
{a] Satyagraha in Kheda
(bl Dandi March
{el Satyagraha in Champaran
{d}  Return from South Africa
126. A rainhow is produced due to which one of the
following phenomena 7
{al  Dispersion of light
{bl Interference of light
(] Diffraction of light
{d} Scattering of light by atmospheric dust
126. Bats detect obstacles in their path by
receiving the reflected
(a) Infrasonic waves
{bl  Ultrasonic waves
{e) Radio waves
{d} Microwaves
127. The statement that ‘heat cannot flow by itself
from a body at a lower temperature to a body
at a higher temperature’, is known as
(] Zeroth law of thermodynamics
{b] First law of thermodynamics
{e) Second law of thermodynamics
{d) Third law of thermodynamies
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128,

129,

130,

A

Which one of the following waves does not
belong to the category of the other three ?

fal  X-rays

{b} Microwaves
(¢) Radio waves
(d  Sound waves

Which one of the following statements is nof

correct ?

(a) Human eye is & refracting system
containing a diverging lens.

(b} The retina of the human eye contains
millions of light sensitive cells, called
rods and cones, which convert the light
into electrical mesaages,

(e} Ewery image that is focused on the
retina is upside down.

(dy  We need both eves to judge the relative
positions of objects accurately.

Which one of the following statements is not

correct ¥

ta)  Ultrasonic waves cannot get reflected,

rafracted or absorbed.

Ultrasonic waves are used to detect the
presence of defects like cracks, porosity,
ete, in the internal structure of common
atructure materialz,

(h)

(c) be wused for
making holes in very hard materials

like diamond.

Ultrazonic waves ecan

id) Ultrasonic waves cannot travel through

vacuum.
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125.

126,

127.
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0 2t i afal fmEm d E R

(e} N AW @l waw gegi # fog 3 & R
s 7 1 I9am e o gEar 2 |

(d) "o Tt Fats § i 9d s gwdi |



131, According to the Travel

132.

133.
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and Tourizm
Competitiveness Index (TTCI) 2017 released
by the World Economic Forum, among the
136 economies across the world, India ranked

th

{a) 5O

(b) 40"
(e) 30"
(@ 2o™

Which one of the following iz the theme of the
World Health Day, 2017 celebrated by the
World Health Organization 7

fal Diabetes

(b} Food Safety

ict Depression : Let's Talk

id) Ageing and Health

Which one of the
has launched & new programme on
Interdisciplinary Cyber Physical Systems
(ICPS) to foster and promote H&D ?

following Ministries

(a)  Ministry of Earth Sciences

(b)  Ministry of Science and Technology

ic)  Ministry of Information and

Broadcasting

(d)y Ministry of New and Renewable Energy

134.

135.

136.

(32-A)

Consider the following statements about the
Nagara style of temple architecture :

1. This style of temples are commonly
found in the areas between Himalayas
and Vindhyas.

2.  The most striking feature of this style is
its pyramidal shikhara.

Which of the statements given above isfare

correct T

(a) 1only

{(b) 2 only

{c) Bothland2
{d} MNeither 1 nor 2

Asghoka's conneection with Buddhism is evident
from which one of the following edicts ?

(a) Major Rock Ediet 13
(b} Rock Edict &

fc}  Minor Rock Edict 1
(d) Pillar Edict 4

The Cabinet Mission Plan for India envisaged

ta) Federation

tb)  Confederation

ic}  Unitary form of Government
(d) Union of States



131.

132.

133,
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faws anfdw d9 g 9f), @ @ W=
it TaTeR i (TTCI) 2017 % 31,
e i 136 sdmmeass 4, avm 9 R
T e @ 2

S
40T
goa
it

[al
ih)
)

(d)

e wre g g e e fave e
fmm, 2017 6 fawmeam Foffas § @
EocE

R&D & Wrames a9t fmm (s #1) % fm
amiays wgE dfaw wnfadt qops) w v
T FEFH H A fefefag § # feg
HATEE g T T R 7

(a) Teeft forgm wame

(by Foger s dreifiefl gaem

T UE THT A

(dy T vg At w5 T

(el

(33 -

134, 9% wwe ) R A0 o A § et

135.

FeA1 o fa=m i

1. =\ 9 ¥ ufd amre: o qa B
& & o I w #

2. ¥ el w1 waifts oeegl S@ e
et faper 2 |

T F # wEI/A weE ad A
e 1

+ad 2

131 23

AW, AE 2

{a)
(b}
(e}

(d)

Freferfas § 8 fisg vemew @ g wf F oy
A & ey TR B o

weT firEeE Teew 13
ReTeE e 6
GEREGIGICRIE )
TR TR 4

la)
(b
led
{d)

136, Ffeme fimm = 3 Wi ¥ fom Fefafen &

Al

¥ form o Taram fipar 2

(a) TEEH

(b) wimEm -

(¢) USIEHF F[ET Tome]
(d) T w1 HEG



137.

The creation of the institution of Lokpal was
first recommended by

(a} Law Commission
() Santhanam Committes
(e} Shah Commission

{d} Administrative Reforms Commission

138. Which one of the following is a cause of acid

139.

rains !

{a) Ozone

(b} Ammonia

(e}  Sulphur dioxide

(d) Carbon monoxide

The desirable range of pH for drinking water
i8

{a} 65to8bH
ib} 50 to 65
(cd 6HtoT0
id)  TOto 85
ADU-FAXT

140,

141.

(34-A)

Consider the following reaction :
CH, + 205 — COy + 2H0

Which of the following about the reaction
given above isfare correct 7

1.  Carbon is oxidized.
2. Hydrogen is oxidized.
4. Hydrogen is reduced.
4.  Carbon is reduced.

Select the correct answer using the code given
below :

(a) 1only

(F) 1and2only

(c) 2and3only

{d) 2and4only

Sunrise in eastern Arunachal Pradesh would
be about how many hours before the sunrise
in western Gujarat 7

{a) One hour

{b) Two hours
{¢) Three hours

{d)

Four hours



187, RIS HEWT % g9 1 e wdven R

err o g ot o
(a) Tl smrm
() Heumaw gy
() TR HEM

(dy wETEEE g wEm

138, Frfafgn 4 & wR o= ool =1 T

(HToT) = T @ 7

(a) A

(b) HIiE

(¢) HEH BEIFAEE
(d) T AHEEEE

139, Yu=e & fom pH &1 Gy dho e g ¢
(a) G5 EE
(b} 5065
() 65HT0
(d) TDHE 85
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(35-A)

141.

140, Fefafes afufen w fEm ff

CH, + 20, — CO, +2H,0

I afifem & = A4 fofefas § @
FH-ETE Al B e

1. A & st g 3 |
2. TG N S g |
3. WEESA W AIEEA BN B |

4. TR H ATEH g R

e fim e e W = e e gh
(a) Fad 1

(b) Sae 13 2

(¢) Faw 23 a

d) Fas23i 4

el s wew W g uivedt qen §
e A T e HR e wm o

(a) TF 92
(b T
¢y dR e

(d) =W
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Consider the following States of India in
terms of percentage of forest area in relation
to the total area of the State :

1. Karnatala
Z Odisha
3. Kerala

4, Andhra Pradesh

Which one of the following is the correct
descending order 7

ta) 1-2-4-3
(b) 3-1-2-4
(e} 3-2-1-4
id)  2-3-14

Which ane of the following States in India has
the longest coaztline ?

fa) Odisha

(b} Tamil Nadu

e} Karnataka

(d) West Bengal
ADU-F-LXT

144. Which one of the following States in India has

145.

146,

(36-A)

the largest area under forest cover 7

{a} Maharashira
(b} Chhattisgarh
(c} Madhya Pradesh
{d]  Andhra Pradesh

Which one of the following iz not an igneous
rock 7

{a) Gabbro
(b} Granite
{¢)  Dolomite
(d) Basalt

The Coriolis effect is the result of

{a) Pressure gradient

{b) Earth's axis of inclination
(¢} Earth's rotation

(d) Earth's revolution



142. U0 % Fdl BA%w & Ang 9 89 £ ufimam

143.
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% ey o, wim % frefifes o= @ fEm

4, g wEm
e 4 8 s ot setd wn 2 0

tal  1-2-4-3

(b} 3-1-2-4
(e} 3-2-14

(d) 2-3-1.4

uid & fefatea § 8 few o= § men afas
T i E 7

AifEm

{al

(hy i Arg

(¢} WAlE®H

(d) wfves e

144, Wi & F=fafag 7 3 e 0= % oaifos

&3 ¥ a9 wreafen § 7
(a) WEN
(b} TEiETE
(] TE WEH
(d) W

145, frferfan 4 & wiah s e 727 2 ¢
(@) T

(b) T

i

(d) wHEE

(e)

146. Hitiwied vaE g fom & 2
{a) T TEUET ST
(b) et &% AR 278 F

(e) gt o oA
(dy R % ufimmm -

(3T—A)



147. Where iz Mekong Delta located 7

(al

{b

(e)

(d)

148, Which one of the following pairs of rivers and

tributaries is no# correctly matched 7

{a)

k)

o)

id}

ADU-F-LXT

Thailand

Cambodia

Myanmar

YVietnam

Godavari : Indravati S
Ganga :  Penganga
Krishna Bhima
Lumni r Sukri
(38-A)

149. Conzider the following characteristice of a

tropical cyclone :

1. A warm sea temperature of > 26°C

2. High relative humidity of atmosphere at
a height of > 700 m

3.  Atmospheric instability

The above mentioned characteristics are

associated with which one of the following

eycles of its development ¥

(a}

(b}

(el

(d]

Formulation and initial stage
Meodification slage
Full maturity

Decay

In the Mesopotamian records, which one of
the following terms was used for the Indus

Valley (Harappans) 7

{a)

{b)

)

id}

Dialmun

Meluha

Magan

Failaka



147. =i 2we el fEm & o

(a) g

(by TwEETTE

{e) H‘fﬂi{

iy TEgEAm

148, G T oEEE Afen = Aol § 8

FE-HT 7w galea 727 8

(a) it LT

() ¥ LS

T | s

(dy = Hehdl
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(39-A)

154

149, IwEicada wwam &1 Fefafen s «

feram <ifam .
1. > 26°C ¥ U T99 HHZ AYHH

2. >700m % FEE W AgEER 6 I
i s

3. aFHsHE st

g Al fiad, Prafefes § 2 ek
Torm % foe = & wefim § 7

(o) HEU AUT G g
(h)  9E0 e
{e} U] ofta=m

(d) 98T

fay =t (mewur) 3 fomn Sererfrnd frwref 4,
Frfafigs 4 & fRa v w1 wEm fEw omn
a1 7
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Nate : English version of the instructions is printed on the front cover of this Booklet.

ADU-F-LXT (44— A)



